Physics 11 U1 - Kinematics Test October 2015 T/“
e Y
Name: Date: 7

Please show all your working. Formula, substitution, answer as a minimum

You may use a formula sheet and a scientific calculator

1. We watched a video that was a re-enactment of Galileo at dinner. He dropped an,d/
orange and some grapes. ’

a) Who was he trying to prove wrong? /’) (7?"/{77’*’({/
"

b) Why did the church not like Galileo’s views? s / L
p Heo Uelieve Jret the Earth witt a/ow Sut]

Whith, war al«‘]ﬂm% (hatl] Jotvey we at /. Lq/j//g/(/f ¥,

c) How was Galileo’s way of doing science different than how science had been practiced in
the past?

I he relied o ohser wlig /i At

2. Based on our data how does mass effect the period of a pendulum?

! it Joor nst

3. Newton said that he could see further because he stood on the shoulders of giants. Who
was he referring to?

n 6%2'( /(’ V4

4. How was the video of the feather and the bowling ball dropping in the huge vacuum
chamber related to other videos we watched?

Name one video and the describe the connection.
12 Lo meon shet

ok

Ly chatghy ;owes -
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5. A blender spins 6200 times in 13 seconds.

a) Calculate the period

b) Calculate the frequency

F=4FrH#

c¢) How long does it take for the blender to spins 20 times?

T %90 = O O:0419 sec .

d) How many times does the blender spin in 30 seconds?

4,300 = F*30

6. A runner sprints at 9.1 m/s. How long does it take to complete a 100 m race?

/3

{

f=d = 12 = |D,81

© Y (s
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7. A dog walks 15 m North and 9 m South. Find the distance and displacement.
2

T Ci dn’/wl([,“//gg/ﬂj

5 -,
4 2 ﬁ ’[a@//v’/ﬂ(’b‘; @m ‘

8. A boat travels at 10.3 m/s across a river that is 90 m wide. The current in the river moves
at 1.3 m/s. If the boat is pointed straight across the river . .

a) How long does it take to cross the river?

° J( 0( O = 95 sec .

0/

b) How far down stream does it drift while crossing the river?

/3
d=v.t=(3(@7 579) = l4m.
| (. 357
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9. A car accelerates from rest to 120 km/hr in 6.3 seconds. Calculate the acceleration in

m/s2. LD 33:_3.

4

10. Describe the motion depicted by the distance vs time graph below.

rd -
A e\l &uﬁ/\‘i

0\

~{.

11. Describe the motion depicted by the velocity vs time graph below.

i
[l |
co/\x“iMl" W"/( ‘
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12. a) Calculate he slope of the graph below. Show your calculations on the graph.

%

b) What does the slope represent? wios {Y ,

A

distance vs. time

40 ~@- distance
Bl C:stFit
Line
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13. A car is travelling at 40 km/hr and accelerates at 3.2 m/s2 for 4.2 seconds. What is the
final speed in m/s?

/4 L@\)I: Vo [ g
Vv rat =(01) + (D0
= Mbmp.

14. How much distance does it take a truck to stop that is going at 100 km/hr if the reaction
time of the driver is 0.9 seconds and the truck can brake at 5.7 m/s2? 2

/
9 255

=yt =305 = 35m
SV /\ggf _ @%,%7(0,@\+ (y/\[ z5:§§\/

\/;c \/ t'l ¢ Aad.
0 - 479 ¢ a(s))

C/{F (T8 [/f VS5 (RLT
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15. A rock is thrown side ways off a 9 m cliff at 16 m/s. How far away does it land?

/6
@ —>Ibnjy

’T
iy

| ,
< ! >
%?}@4{7/ 52,%_‘1/3 [ 3% sec
4 a8

0{,; et :@} (/JB@) = tm .
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16. A soccer ball is kicked at 38 m/s at 27 degrees above the horizontal. Find the range of
the soccer ball.

9

Pl

. | =D .
@ \/X = 354535/’%/

N7l - 3.54006%¢c,

AT et ot =3qVi ¢
@I \p=Vitat ok T AL (%

@“Eﬁw«/ @3'“@(55@ bl
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